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Q. Select the correct statement from the given options.
(a) Eggs are a good source of fibre and fat.
(b) Milk is a good source of phosphorus, iron and protein.
(c) Milk is a good source of calcium, phosphorous and protein.
(d) Red meat is a good source of carbohydrate and fibre.
[SSCJE 14 NOV 2022 SHIFT 3]

7. T v el F & T FAT FT TIA H
(T) 3 FER 3R T & THh 37T ad &l
(&) qU BREHRY, @ie IR N &1 vh 3T did
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Q. Select the correct statement from the given options.

(a) Eggs are a good source of fibre and fat.

(b) Milk is a good source of phosphorus, iron and protein.

(c) Milk is a good source of calcium, phosphorous and protein.

(d) Red meat is a good source of carbohydrate and fibre.
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Q. Which book is commonly referred to by chemists as a collection of recommendations of
inorganic chemical nomenclature published at irregular intervals by the International
Union of Pure and Applied Chemistry (IUPAC)?

(a) Orange book

(b) Blue book

(c) Red book

(d) Green book [SSCJE 15 NOV 2022 SHIFT 2]

. SR fAd 3Th TIR U3 UCaTss HiATY (IUPAC) gRT AfAIfdaT 3iavrer aX gahrfRra
HpEAe TaAE AT Hf [ERAT & T & §7 H WG] R 3MHGR | 5T
Q&I P HefAd fRaT 1T 87

(T) AN forama

() = g

I GIGREGIE

@) & vae [SSC JE 15 NOV 2022 SHIFT 2]
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Q. Which scientist made the first observations on platinum as a catalyst and
discovered similar triads of elements which led to the development of the
Periodic Table of elements?

(a) Newlands

(b) Newton

(c) Dobereiner

(d) Maldeleev [SSC]JE 15 NOV 2022 SHIFT 2]

y. fra de1fas a8 3cRe & ¥0 A wiftdd W ugell IR 3adiea fhar 3R
deal & TAH 9 T @ist Hr a9 deal H rad arofr o1 e gane

(3Y) ATISHT [SSC JE 15 NOV 2022 SHIFT 2]
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discovered similar triads of elements which led to the development of the
Periodic Table of elements? RS s |

(a) Newlands
(b) Newton

(c) Dobereiner
(d) Maldeleev
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Q. What percentage of carbon does the Earth’s crust have in the form of
minerals?

@s8% b

(b) 15% RS . MANTLE

(c) 2% g ) e OUTTER CORE
(d) 0.02% , W A
7. g2 Y qud) I Rhaa ufAvd Fea wRer

b ®T H %? LAYERS OF
(T) 8% THE EARTH
() 15%

(&) 2%

(3Y) 0.02% [SSC JE 15 NOV 2022 SHIFT 2]
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Q. What percentage of carbon does the Earth's crust have in the form of
minerals?

(a) 8%

(b) 15%

() 2%

(d) 0.02% [SSC JE 15 NOV 2022 SHIFT 2]

v. qudt & qugr A fhda gfaera Fee @fas & §7 7 §?

(T) 8%

() 15%

(&) 2%

(3r) 0.02% [SSC JE 15 NOV 2022 SHIFT 2]
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Q. 40°C is equal to how many degrees on the Fahrenheit Scale?

(a) 104

(b) 40

(c) 84

(d) 60 [SSCJE 15 NOV 2022 SHIFT 2]

U. PRABISE Thel UT 40°C fohda 2ol & sReR giar &2

(T) 104

(1) 40

() 84

(3Y) 60 [SSC JE 15 NOV 2022 SHIFT 2]
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Q. What are X-rays also known as?

(a) Alpha rays

(b) Super rays

(c) W.Rontgen rays

(d) Terrestrial rays [SSC JE 15 NOV 2022 SHIFT 2]

U. -3 &l 3R fhE 197 & SEr ST g2

(T) 31T foRol

(&) g fepon

(EY) 3ecg_ TecareT Tt

@) T foot [SSC JE 15 NOV 2022 SHIFT 2]
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Q. In a vernier caliper, a retainer is used to:
(a) measure external lengths possible
(b) block a movable part to allow the easy transferring of a measurement

(c¢) find depth measurements
(d) measure the internal diameter of an object
[SSCJE 15 NOV 2022 SHIFT 2]

6
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Q. In a vernier caliper, a retainer is used to:
(a) measure external lengths possible
(b) block a movable part to allow the easy transferring of a measurement

(c¢) find depth measurements

|
(d) measure the internal diameter of an object r “

[SSC JE 15 NOV 2022 SHIFT 2]

7. IR el H R &1 gAter forar rar &:
(T) GG I oiarg A
(1) T AT F I FAROT A IAT G F AT T FIH AT H sdAlD

Ciny
(&) I AT Gt
31 fre T & ATARD A Pl AU [SSCJE 15 NOV 2022 SHIFT 2]
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Q. What is the loss of water from plants is known as?

(a) Transpiration

(b) Plant saturation

(c) Herbigation

(d) Evaporation [SSC JE 15 NOV 2022 SHIFT 2]

7. gt & ST fr T B FT Fea £
(T) arsaicHsid

CUE;CERGIT

(&) sfdareE

(&) arsdfieIoT [SSC JE 15 NOV 2022 SHIFT 2]
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Q. What is the loss of water from plants is known as?

(a) Transpiration
(b) Plant saturation
(c) Herbigation

(d) Evaporation

7. gt & ST fr T B FT Fea £
(T) arsaicHsid
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(&) sfdareE

(31) arediehoT

[SSCJE 15 NOV 2022 SHIFT 2]



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Explain how the second period starts with lithium.

(a) When the second electron enters the 2p orbital

(b) When the third electron enters the 2p orbital

(c) When the second electron enters the 2s orbital

(d) When the third electron enters the 2s orbital |[SSC]JE 15 NOV 2022 SHIFT 2]

U. qad 6 gt 3af¥ ffds & FH7 4w X 2

(T) ST GIRT FoIdgied 2p H&TH A YAA T &

(&) S DT SAFEIA 2p haTeh H YA HIAT &

(¥Y) ST GHUT Gl 25 HaTh H TAA T ©

(&) T ATET SAFCIT 2s H&Th A UAA AT & [SSCJE 15 NOV 2022 SHIFT 2]
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Q. Which of the following pairs is correctly matched?

(a) Vitamin A - Lemon

(b) Vitamin B - Lemon

(c) Vitamin A - Lamb liver

(d) Vitamin C - Green vegetables [SSC JE 15 NOV 2022 SHIFT 2]

. Aeafaf@a & & ala ar g7 adr gafea &2

(v) fRerfde v - g

(@) Terfda & - ig

(&) Refda T - dAda &1 TR

@) Refaa @ - & afesn [SSC JE 15 NOV 2022 SHIFT 2]
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Q. Which process is defined as the process of preserving food by anaerobic
fermentation in brine or immersion in vinegar?

(a) Freezing

(b) Pickling

(c) Fermenting

(d) Canning [SSCJE 15 NOV 2022 SHIFT 2]

. fora OfhaT & 13T 3 STy fhvae a1 fATd # Fat T S @ WA
A r gfehar & &7 FH aReRT fmar Srar €7

(W) 38

() TADT TATAT

(&) fpuas

@) e [SSC JE 15 NOV 2022 SHIFT 2]
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Q. Parenteral nutrition can be defined as:

(a) removal of excessive food by syringes

(b) infusing a specialised form of food through a vein (intravenously)

(c) infusing a specialised form of food through oral route

(d) intake of glucose and salts through oral route |[SSC]JE 15 NOV 2022 SHIFT 2]

. 3AaX QIN0T &l 39 YhR IRATRT fhar ST Jahar &:
(T) TR gRT 31T®¥p AT & ser=T
(1) Th 9 b ATCIHA J AT & Th [AAY §T Pl ST (37:FART)
(&) HAITQEH ART & ATCIA § AT T T [OAY FT STl
@) Flf@F AT & AIA q Ioprar AR TGUT FHT QA
[SSC JE 15 NOV 2022 SHIFT 2]
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Q. Select the correct statement with reference to group Angiosperm.
(a) Angiosperms are also called non-flowering plants.
(b) It is a minor group of kingdom Plantae having only 300 species.
(c) Angiosperm are seedless plants.
(d) Itis the largest and most diverse group in the kingdom Plantae.
[SSCJE 15 NOV 2022 SHIFT 2]

. SO0 g & TeH A TR HUF T IIT P
(T) TfSFgd & IR-Gol arel GiEr 8T &gl ST §
(&) TE TATEY ST T Th oY HAG © ToiHehl hael 300 ST &
(&) uforegst e IRa ai €
(31) I AT I5T A Fad 937 AR 9 [Afay a9qE vl
[SSC JE 15 NOV 2022 SHIFT 2]
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Why is red light used in traffic signals?

¢fheh THocTer & STel &Y &l YAV AT
fopar SITaT ©?

A. It has the longest wavelength
B. It has the shortest wavelength
C. It has the highest energy

D. None of these
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The fifth state of matter is known as

gery Y fifth 37a€AT &t P g
& ST ST §

A. electrons
B. gas
C. Bose Einstein Condensates

D. plasma
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Where is the principle of controlled chain
reaction used?
el ThT ST &2

A. Atomic energy reactor (UI&ATY] ol RUFR)
B. Atom bomb (UIHIY] &)
C. Core of the sun (1{!-‘[ T he)

D. Artificial radioactivity (T3 Ifarafaan)
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Q. Name the mirror which is used in the side mirrors of cars.
(a) Plane
(b) Parabolic

(c) Concave
(d) Convex [SSCJE 16 NOV 2022 Shift 3]

U. 39 4ol &7 IH fAfaT S R & grar cduit 3 gaier foram e §1

(T) AT

(&) Waa¥e

(&) rade

)L [SSC JE 16 NOV 2022 Shift 3]
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Q. Hideki Yukawa, who received the Novel Prize in 1949, is well known for which
discovery?

(a) Theory of nuclear forces

(b) Measurement of electronic charge

(c) Thermal ionization

(d) Cascade process of cosmic radiation [SSC JE 16 NOV 2022 Shift 3]

¥.1949 # 3UaH REPR WA e Joprar o @ia & fow ufdg &2

(T) WA el 1 g

() selaci@e are &1 AN

() TASA MTIATHIOT

@) semE fafeRor fr Frbs ufrar [SSC JE 16 NOV 2022 Shift 3]
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Q. Which of the following is NOT a herbivore?

(a) Sheep

(b) Grasshopper

(c) Rabbit

(d) Hawk [SSCJE 16 NOV 2022 Shift 3]

u. Aei@a # ¥ sl a1 e QAherY a6 §7?

(T) A

(s) fegsr

(&) @Iameg

(3Y) gih [SSC JE 16 NOV 2022 Shift 3]
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Q. Which of the following is an example of a vector quantity?
(a) Mass

(b) Temperature

(c) Volume

(d) Velocity [SSC JE 16 NOV 2022 Shift 3]

u. Q% & O la afeer afr &1 seeor &7
(T) A
() daAT

(&Y) afegH
() a9 [SSC JE 16 NOV 2022 Shift 3]
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Q. When did the United Nations declare the World Physics Year, also known as
the Einstein Year, to mark the 100t anniversary of the physicist Albert Einstein?
(a) 2002

(b) 2004

(c) 2006

(d) 2005 [SSCJE 16 NOV 2022 Shift 3]

(3Y) 2005 [SSC JE 16 NOV 2022 Shift 3]
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Q. Which of the following laws works in constant pressure?

(a) Charle’s law

(b) Boyle’s law

(c) Thomson’s law

(d) Graham's law [SSC JE 16 NOV 2022 Shift 3]

y. Aeafai@d # @ Pla 91 Fiegd AR gara # A HIr &2

(T) Trell &1 AIH

CHEECEEIRGEL]

() ATHTT 1 AIH

() ATeA BT AITH [SSC JE 16 NOV 2022 Shift 3]
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Q. Which of the following is an example of an oscillatory motion?
(a) Moving of an object in a straight line

(b) Moving of a bus in a circular path

(c) To and fro motion of a single pendulum

(d) Dropping of an object from a height [SSC JE 16 NOV 2022 Shift 3]

¥. [Aeafaf@a & & Pla-ar gt afd &1 3gRIoT §7

(T) ferdll a&g ol Teh Il @1 # o ST

(Eﬁ)wma@m?qawam

() Th dAleled I SUT-3W a1fa

@) Fare ¥ hr axg &1 e [SSC JE 16 NOV 2022 Shift 3]




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. Which of the following is an example of an oscillatory motion?
(a) Moving of an object in a straight line

(b) Moving of a bus in a circular path

(c) To and fro motion of a single pendulum

(d) Dropping of an object from a height [SSC JE 16 NOV 2022 Shift 3]

¥. [Aeafaf@a & & Pla-ar gt afd &1 3gRIoT §7
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Which cell organelle is present only in
plant cells?

it TT PITAPII hdel UICT PTARIIT A
qaT ST €2

. Chloroplast

A

B. Cell wall
C. Lysosomes
D

. Aand B
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Plant cell

Chloroplast @ %

Cell wall

Amyloplast

Vacuole

&

Animal cell

Golgi vesicles
Golgi apparatusv
Membrane
Peroxisome
Cytoplasm
Ribosomes

Lysosome

Nucleus
Nucleolus
Rough ER
Smooth ER

Mitochondrion
Cytoskeleton

Centrosome

e
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Which cell organelle is present only in
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Q. What is the average atomic mass of a chlorine atom?

(a) 36 u

(b) 35.5u

(c)35u

(d) 37 u [SSC JE 24 Mar 2021 Shift1]

U. TRl WATY] T AT WAV AR fhar aiar &2

(T) 36
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(&) 35

3N 37 7 [SSC JE 24 Mar 2021 Shift1]
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Q. What is the average atomic mass of a chlorine atom?

(a) 36 u

(b) 35.5u

(c)35u

(d) 37 u [SSC JE 24 Mar 2021 Shift1]
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Q. In which of the following options is oxalic acid most likely to be found?
(a) Spinach
(b) Vinegar

(c) Tamarind
(d) Curd [SSC JE 24 Mar 2021 Shift1]

. TPeafef@a # @ 59 Recu # 3amfos s uw a9 & gea 3Rs
AT &7
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Q. In which of the following options is oxalic acid most likely to be found?
(a) Spinach
(b) Vinegar

(c) Tamarind
(d) Curd [SSC JE 24 Mar 2021 Shift1]
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Q. Who is the creator of WWW or the world wide web?

(a) H Edward Robert

(b) Larry Page

(c) Tim Berners-Lee

(d) Sergey Brin [SSC JE 24 Mar 2021 Shift1]

. WWW IT g¢5 153 dd & AT Pl §7
(T) T TS Jdc

(&) o o=

GRELECGEEC]
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